Miss Hughes group — Silver Fluency

5da. Complete the statements to match
the image below.

5b. Complete the statements to match
the image below.
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éa. Sort the marbles into groups of 4 and
complete the statement.

ﬁ? lots of

éb. Sort the pencils into groups of 4 and
complete the statement.
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7a. Complete the bar model to represent
the calculation below.

7b. Complete the bar model to represent
the calculation below.

7 x 4 = 28 10 x 4 = 40
Y |0
8a. True or false? 8b. True or false?
34=2x2x8 24=6x2x2
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5a. True or false? The calculation below is
correct.
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5b. True or false? The calculation below is
cotrrect.
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éa. Circle the correct answer.
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6b. Circle the correct answer.
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7a. Use the number line to solve the
calculation.
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7b. Use the number line to solve the
calculation.
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28 4
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8a. 4 children share 12 cubes equally.

Complete the calculation to show how
many each child receives.

8b. 4 children share 20 cubes equally.

Complete the calculation to show how
many edach child receives.
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